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module compare(a, b, c);
input a;
input b;
output c;
assign ¢ = 7 (a " b);
endmodule
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‘timescale 1ns/1ps
module compare_test;
parameter STEP = 10;
reg ina, inb;
wire outc;

compare comp(ina, inb, outc); // compare 00000000

initial begin
$dumpfile("compare_result.ved"); // 00000000000
$dumpvars (0, comp); // 0000000
$monitor($stime, "\ta=¥%b, b=¥b, c=)b", ina, inb, outc);

ina <= 1’°b0; inb <= 1’b0; #STEP
ina <= 1’°b0; inb <= 1’bl; #STEP
ina <= 1’b1l; inb <= 1’b0; #STEP
ina <= 1’b1l; inb <= 1’bl; #STEP
ina <= 1’°b0; inb <= 1’b0; #STEP
$finish;
end
endmodule
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module DFF(clk, rst, d, q, gbar);
input clk;
input rst;
input d;
output q;
output gbar;
reg 9

assign gbar = “q;

always @ (posedge clk or posedge rst) begin

if (rst)
q = 1’b0;
else
q=4d;
end
endmodule

always 00000000000 ODOOO0O0O0ODOQOO beginDendODO 10000000000
O0000O0O0OOposedge 0O DO0OO0OOO0ODOD100000D0000000ODOOOO0ODO0O clkO
st 0000000000000 alwaysOOOOO0OOOOODODOOOO
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A.1 VerilogOOQOOoOO

e HOODOOODODLODODLOODLOOOO

e JOOODOODOO//O/* %/

A—hURLH

input a; . -
input b; Sl ==
output c; B
i wire tmp; PRy b VOREES TV a—)
Exor exor(a,b,tmp); T
assign c =~ tmpl; @%ﬁﬂﬁﬁﬁ
endmodule

module Exor(a, b, ¢);
input a;
input b; e e
output c; THUEY 2—b
assign ¢ = a ~ b;
endmodule

oboooo0O0 OoOobOoooobooooboobn

gobod o0OobOoooobooooboooboooobooooOoOoobOooboobboOoobOOoOobooOooon
gbooobooboooogon

obooooOoobooooob boobOooboooooboooobobOoooOogobono

wire cl; // 1vitQO OO
reg [3:0] q; // 4vit 0000

gboooobod bDooboobooboobooo

parameter STEP = 10;

gbooabo obobodabodobodobgadn

000 COO0OOO0O0O0O0OQ0mmput0 outpwt 00000D0DInOOD00O0OCCOOO00O00O0O000OOout
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OO0 O00OO0o0b0O0ODOdOO0OwireO regd00noon

e wire 000D D0O0D0DUODODOODDOUODDOD (D0DO0OUDODOO0OOOOOD)OwiredOODO assign
000000 (Doooooooon)

ereg10000UIODOOOUODDOOODODO (DOODO)

oooooo [(JooooooooooOoOCbooOo0oOooooobOOM@mOoOoDObOOo:.0cooooboloo
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wire [7:0] x; // 8bit [
wire [3:0] y; // 4bit O
wire z; // 1bit O
assign y = x[7:4]; // O000O000O0OO
assign z = x[2]; // 10000000

A2 0O00O0OO

gboogobooboobooobgoobooo

assign0 0000000 O0OO0OOOOreg0O00D0OCOOODOOOOO

assign ¢ = 7 (a " b);

gooooob oOobooooobogoboo

reg ina, inb;
wire outc;
compare comp(ina, inb, outc);

always] 0000000000O0000O0O0OOOOOOOOOOOO(OOOOO)

A3 000
ooooo

& and
| or

not
XOr
~|  nor

oooooood

wire a;

wire b;

wire [1:0] c;
assign ¢ = {a, b}

A4 0OO0OOOO

w'ecv 00000000000

e wOOUDDOODOODDOODO (ODODO 32bit)



e cO00UIUDODDDOU2000800010000160000000 bOo0dIRODOOO (OO
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oogoooo
79 // 00000000000000000000000001001110
1’b0 // 0
16 hffff // 1111111111111111
8°h79 // 01111001
8°d79 // 01001110
8°b1100_0110 // 11000110

A.5 always

always 10000000 COCOO00000000O0D1000000000000000O0DOQObegin
Oend0O0OOO

always @ (00O) O

always 0000000000 0ODOOOO

e if else
e case [J

e JOOODOODOO

ifOd
f00000000COC0O00000000000ODODOOCOO00OCOO0OO0O O elsebbbbboooOon

OO0000C00D000000OODbegin0 end0 00000000 compare 000000000000
goo

module compare(a, b, c);
input a;
input b;
output c;
reg c;
always @ (a or b) begin
if (a == b)
c = 1°bl;
else
c = 1°b0;
end
endmodule

case [J

case 0000000000000 ODDOOOO0O0OO0O0ODOODOOOO00ODODOQO defalut0dOdnQ
O0O0O0Ocase 00000 compare 0000000 O0O0OODODOO

module compare(a, b, c);
input a;
input b;
output c;
reg c;
wire [1:0] tmp;
assign tmp = {a, b}; // a0l pbO00




always @ (a or b) begin
case (tmp
2°b00 : ¢ = 1°b1;
2°b01 : ¢ = 1°b0;
2°b10 : ¢ = 1’°b0;
2°b11l : ¢ = 1°bl;
endcase
end
endmodule

obooooooo

<=00000000000OCCOOO0000O0DODOO00OO00OOoDOcOODbDOOO ab0bO
oO00oo0oOoOo0oooOoOouoDoD ab0bOOoOOoOOOOOO

reg a, b;

wire c;

always @(c) begin
a <= b;
b <= a;

end

B O0O00000000oOoooooon

always #(STEP/2) inclk = ~ inclk; 00000000000 O0O0O 1/2(=5ns) 0000000
gbooobooboooogn

‘timescale 1ns/1ps
module counter_test();
parameter STEP = 10;
reg inrst, inclk, inenb;
wire [15:0] v;
counter _res(inrst, inclk, inenb, V);

always #(STEP/2) inclk = ~ inclk;

initial begin
$dumpfile("result.ved"); // 000000O0O00OO0
$dumpvars (0, _res); // 0000000
$monitor ($stime, "\t clk=%b, rst=b, enb=l%b, v=Vb",
inclk, inrst, inemnb, v);

#0 inrst <= 1°b0; inclk <= 1’b0;
#STEP inrst <= 1’bl; inenb <= 1°’bil;

#(STEP * 30) inenb <= 1°b0;

#(STEP * 5) inrst <= 0’bi;

#STEP inrst <= 1°b0; inenb <= 1°’bil;

#(STEP * 30)

$finish;
end
endmodule




